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Question Number : 1 Question Id : 71087010961 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which school of thought laid down one of the principles of teacher and learner role as follows,

"The teacher's role is not to direct, but to advise because the child's own interest should
determine what he learns”

1. Perennialism

2. Progressionism

3. Essentialism

4, Reconstructionism
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From the list given below, identify those features which relate to an approach to teaching and

learning in indirect strategies of teaching

A. Engagement in an inquiring process

B. Concept-based content presentation

C. Gaining attention and informing the learners of the instructional objective

D. Presenting the stimulus material and stimulating recall of prerequisite learning
E. Encouraging students to use references from their own experiences

Choose the correct answer from the options given below:

1. A, B and C only
2.B,Cand D only
3. A, BandE only
4.C, D and E only
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For use during teaching, from the list given below, identify questions that are ‘process
type’ rather than ‘content-type’

A. Divergent questions

B. Fact-based questions

C. Concept-based questions

D. Lower order questions

E. Higher-order questions

Choose the correct answer from the options given below:

1.A, Cand E only
2.B,Cand D only
3.C, D and E only
4. B, D and E only
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Given below are two statements
Statement I: Reliability is a necessary but insufficient condition for validity

Statement II: In respect of evaluation tools, validity is not an all or none concept but it exists
as a continuum

In light of the above statements,choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement |l are false
3. Statement | is true but Statement Il is false
4, Statement | is false but Statement Il is true
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Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Systems of education which are place-specific, time-specific and person-specific
are said to be formal and are created by laid down law and procedures

Reason R: Open universities and open schools are the example of a formal system of
education because they are created by laid down procedures

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true
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3. (A) W6l & U (R) el el |

4. (A) T8I 781 € W (R) eI €

Which of the following methods of acquiring knowledge save time and effort on the part of

the researcher?

1. Method of experience

2. Inductive method

3. Deductive method

4. Method of consulting an authority
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Correct Marks : 2 Wrong Marks : 0
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Which of the following are features of the qualitative research paradigm?

A. The research is concerned with understanding the social phenomena from the participant's
perspective

B. It seeks to establish relationships, among variables and explains the causes of changes in
measured social facts

C. It is conducted in actual settings as the direct source of data and the researcher is the key
instrument

D. It is concerned with the process rather than simply with outcomes or products
E. It attempts to establish universal context-free generalization
Choose the correct answer from the options given below:

1. A, B and C only
2.B,Cand D only
3. A, Cand D only
4.C, D and E only
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A researcher administers an achievement test to assess and indicate the possible effect of an
independent variable in his/her study. The distribution of scores on the test is found to be
negatively skewed. On the basis of this, what can be stated with regard to the difficulty level of

the test?

1. The test is very easy

2. The test is very difficult

3. The test is neither easy nor difficult

4. The test is easy and needs normalization

s QYD HIH AT & Sl FAEd o) & GUd YH1d Jie- Ud Hdbied $3- od Ue e
A& &1 UAN &dl & | TH&0 ¥ e Ui &l fadiur wondas Gt aren g1 39d TR
TR UET & SIS W & g1 § ® -9 $Y 601 of 9&d1 8 ?

1. &7 3fcdd TR &

2. TI&01 Hd Ffe &

3. T T TE IR A S dfed o

4. TH&U TRA & 3R 3T¢ TEH0 &1 oEd o
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Question Number : 9 Question Id : 71087010969 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: A researcher has to observe codal formalities at all stages without scope and
leeway for offending moral and ethical norms

Reason R: In respect of data collection, data analysis and interpretation there is, however, a
considerable scope of being ethically vulnerable

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

www.FirstRanker.com



:l », FirstRanker.com

Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

TR el Py RU U B : U &l 3Dy (A) 3R g8 &I deb (R) Hel M1 & :

HYEHYA (A) : U WYDhd] B Gt 90l § Afdd 3R JER Ydefl 9-d! @I 912 UgdU 9k dled
JuaR@drsdi &1 re &1 oidl 6|

d (R) : STdif UGd GU8Ul, Ued faeivur 3R Ued faxeun & geH o R dkar el e ¥
HTHTd UgdH &1 Uhid s g
Iuad HYHl & 3Maid | HHifed [decdl § I Faiids Iuged 3w 9 :

. (A) 3R (R) &FI Wl & 3R (R), (A) DI Te! ARAT 5|
. (A) 3R (R) G Wal & 3IR (R), (A) DI Te! O T8l B
¥ )ﬂ'ﬁpfﬁﬂ?ﬁ (R) TTCid B
(A) TTTd & IR (R) WE &

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

The scope for employing ICT support is relatively more in which of the following stages of
research?

A. Problem formulation

B. Hypothesis making

C. Data collection

D. Data analysis

E. Data interpretation

Choose the correct answer from the options given below:

1. A and B only
2. B and D only
3.Cand D only
4. D and E only
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Read the given passage carefully and answer the questions that follow
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Transformation is characterized by certain features that clearly differentiate it from other types
of change. First, according to Beckhard, it involves substantial and discontinuous change to the
shape, structure, and nature of the organization, rather than incremental adjustments and fine-
tuning of the current situation. One example of a discontinuous change would be when a firm
changes from being production-driven to being customer-driven. Another would be a merger
of two organizations. In both instances, the shape of the organization can be expected to
change radically. An organization transforming from a production orientation to a customer
orientation will need to drastically decentralize and delegate authority. In a merger, entirely
new roles and working relationships will be created.

A second characteristic of transformation is that the need for change is caused by forces
external to the organization rather than forces inside the organization. A typical example
would be when an organization changes from a functional to a divisional structure in response
to market forces or industry pressures in the form of competitor actions or regulatory changes.
Currently, globalization is one of the most powerful external forces for organizational
transformation.

A third distinguishing feature of transformation is that the change is deep and pervasive,
rather than shallow and contained. The change affects all parts of the organization and
involves many levels. Decentralization, downsizing and the geographic relocation of functions
and activities exemplify changes that transform structural relationships deeply and pervasively.

Finally, transformation requires significantly different, and even entirely new, sets of actions by
the members of the organization, rather than more or less of existing behavior patterns.
Examples are changes to the norms and core values of an organization that are brought about
through acquisition, deregulation, and privatization or through a drastic strategic repositioning
such as shifting from a production-efficiency focus to a customer-service strategy.
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

According to Richard Beckhard, transformation is what kind of change in the
organisational structure?

1. Incremental
2. Discontinuous
3. Finetuning

4. One-time

What happens when two organisations merge?

A. Shape of the organisation will change

B. Product orientation remains the same

C. Drastic decentralisation of authority

D. Discontinuous change does not take place

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. Cand D only

4. A and C only www.FirstRanker.com
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Question Number : 13 Question Id : 71087010974 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The pressure of market force can result in

1. Distortion of role perceptions

2. Changing to a functional structure
3. Changing to a divisional structure
4. Deregulation of competitive factors
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What are the main levels of organizational transformation?
A. Downsizing

B. Geographical relocation

C. Contained changes

D. Power to external forces

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. A and D only

What does organizational transformation require?

1. Strengthening existing behaviours of members
2. Changes in norms and core values

3. Production-efficiency strategy

4. All pervasive structural relationships
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Question Number : 16 Question Id : 71087010977 Question Type : MCQ Option Shuffling : No Display Qu
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Correct Marks : 2 Wrong Marks : 0

The domain of media appeal addresses the issues related to

1. Knowledge
2. Learning

3. Legality

4. Emotions

Hifsar srdia &1 e fou qe F defia g 2

1. 94
2. JAfeTH
3. faf¥rdar
4, TaT

www.FirstRanker.com



» FirstRanker.com

A Firstranker's choice

www.FirstRanker.com www.FirstRanker.com

71087043741. 1
71087043742. 2
71087043743. 3
71087043744. 4

Question Number : 17 Question Id : 71087010978 Question Type : MCQ Option Shuffling
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following will make a student a good listener in the classroom?
A. Ability to deflect attention

B. Concentration

C. Desire to understand

D. Emotional outbursts

E. Humility to know

F. Ignoring the other side

Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3.D, Eand F only
4. B, Cand E only

: No Display Qu
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Question Number : 17 Question Id : 71087010978 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Pedagogy and social interaction are two major areas of activity of teachers
Reason R: It is communication that is crucial for making both the activities important

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

TG HY RUT T : U & i@y (A) 3R GO & db (R) Fel T & :

HiBYA (4) : RIaD & T WE 1 AT ¢ - RIaT U &1 STHeRT au g sfafdban
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71087043750. 2
71087043751.3
71087043752. 4

Question Number : 19 Question Id : 71087010980 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List I with List I

List | List 1l

Types of listeners Characteristics

A. Poor listeners . Scare others

B. Aggressive listeners Il Easily agree with the speaker

. Passive listeners lll. Listen to ideas, but no emotions behind
D. Pseudo-intellectual V. Fidget repeatedly

Choose the correct answer from the options given below:

TA-LE-I,C-1,D-1V
ZA-ILB-U,C-IV,D-1
SA-ILB-IV,C-1,D-1
4 A-IV,B-1,C-1I,D-1

www.FirstRanker.com
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Correct Marks : 2 Wrong Marks : 0

G- ! Gail-11 & |y GHferd Biford -

gail-| Ial-Il

yaef @ UeR  |fagyan

A DA AT |1 GERI Bl S &

B. 3PP 4l |11 Faa1 § M U GeHd ol oId &
- 1. T9TRT &1 4G HXd § dfd 378 iy H1d To!
' Bial

D?-gﬁ E V. SRR 39¢ Sl

Fgfafad faseal ¥ ¥ U8l SO 9T :
T.A-L,B-1,C-1Il,D- IV

2.A-1L,B-N,C-1V,D-I

LA-ULB-IV,C-1,D-Il

A A-IV,B-1,C-1I,D-Il
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Find out the correct chronological order of the following educational communication ventures

in India

A. Krishi Darshan

B. Gyan Darshan

C. Vyas

D. Gyan Vani

Choose the correct answer from the options given below

1.A B CD
2B CD A
3.0 A B C
4 A DB C

www.FirstRanker.com
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YRd H Qe GHE0 IushH & TaH | Fgifed ¥ T Ugl DIO-YR $HH Fa5y
A HU TR

B. M G

C. oY

D. 31 aTul

- feu e faspenl @ ¥ 981 3w 9T

1.A B CD
2B CD A
3.0 A B C
4 A DB C

The difference of the square of two consecutive even numbers is 84. What is the sum of these
two consecutive even numbers?

1. 34
2. 38
3.36
4 .42

www.FirstRanker.com
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71087043761. 1
71087043762. 2
71087043763. 3
71087043764. 4

Question Number : 21 Question Id : 71087010982 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
o HIEE T9 GE@e & a7 @ AR 84 81 37 Gl Ha® 90 GEIH HT A a5 ?

1. 34
2. 38
3.36
4.42

Identify the next term in the series
0,8 24,48 _

1.72
2. 96
3. 120
4.80

www.FirstRanker.com
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71087043766. 2
71087043767. 3
71087043768. 4

Question Number : 22 Question Id : 71087010983 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
FafaRad sid JEan § 3T 3id $I UgaH Bty
0,8, 24,48, _

1.72
2. 96
3. 120
4.80

Mr X is 40 years old and Mr Y is 60 years old. How many years ago was the ratio of their ages
3:57

1. 15 years
2. 10 years
3. 20 years
4 30 years

www.FirstRanker.com
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71087043769. 1
71087043770. 2
71087043771. 3
71087043772. 4

Question Number : 23 Question Id : 71087010984 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
THReR X @ Hg 40 9 g 3R X v B 3 60 7 B | oo a8 Ugd 39 G @1 31 &1 397 3
5 YI?

1.15d4
2.10 4
3.20 94
4,30 94

In a river from a fixed location, two identical boats start moving up-stream and down-stream,
respectively. The speed of the water current in the river is 3km/hour. If the speed of each of
the boats in still water is 15km/hour, the separation between the boats after 12 minutes will be

1. 3.6 km
2. 5.6 km
3. 6.0 km
4. 7.2 km

www.FirstRanker.com
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Options :

71087043773. 1
71087043774. 2
71087043775.3
71087043776. 4

Question Number : 24 Question Id : 71087010985 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ot 7E1 H te [fEa =F 9 o 1o HEE: 98 ®1 YR & Ui SR 761 B 4R B 3R T
B! 6| FTAYRI @1 71 3 f. it /der 81 afe 37 aHif Ardrsil 3 ¥ Ud® A1@ &1 1d QR oa
15 foo.1i1/ Hier & df 12 fie & ugrq gl Aiarell & o & gl ghl -

1. 3.6 fp AL,
2. 5.6 f.dl.
3. 6.0 fo dl.
4. 7.2 fo
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Consider the following letter series and identify the next term
ace, thj, kmo,

1. npr
2. v
3. prt
4. uwy

Frofafad auf - w0 W TR BT 3R 3FTd U8 &1 UgdH HIfd :

ace, thj, kmo, ___

1. npr
2. rtv
3. prt
4. uwy

www.FirstRanker.com
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Correct Marks : 2 Wrong Marks : 0
Match List | with List 11

List | List 11
Theories Philosophers
A. Episteme and Doxa . Aristotle

B. Potential and Actual being Il. Hegel

C. Vyavaharika and Parmarthik . Sankara

D. Rational and Actual V. Plato

Choose the correct answer from the options given below:

TA-LE-ILC-1,D-IV
2A-ILB-NLC-1V,D-|
SA-ILE-IV,C-1,D -1
4AA-IVB-LC-IILD-1

www.FirstRanker.com
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gii-1 1 Taii-1l & 9y GHferd Siferg -

-1 ]

gl MEIEEE
A. IO qur Stas . 3REL
5. §Ud Ud IRdld® oiid 1. g3Ie
C. M98l Ud URHErd® RIGE
D. difh Ud IRdfdd V. &iel
i fau v fadedl § ¥ U8l [dde gHu

TA-LB-ILC-I,D-1IV
2A-ILB-NLC-1V,D-|
SA-ILEBE-IV,C-1,D-|
4A-IV,B-LC-II,D-1

What type of cognition is beyond the ambit of perception?

1. Anumiti
2. Upamiti
3. Nirvikalpaka pratyaksha
4. Savikarpaka pratyaksha

www.FirstRanker.com
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71087043786. 2
71087043787. 3
71087043788. 4

Question Number : 27 Question Id : 71087010988 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
AR & SR F W Hgifhd § 9 -9 ATHgH e 2
Frafafea 3 9 ¥gl fadea gHa

1. A
2. JuiHfa

3. Afdocas U
4, Oiddedd Uda

‘Golden mountain is fiery because it is smoky’

Which type of fallacy is committed by the above inference?

1. Asraya siddhi
2. Svarapa siddhi
3. Vyapyatva siddhi

4, Savyabhichara
www.FirstRanker.com
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Options :

71087043789. 1
71087043790. 2
71087043791. 3
71087043792. 4

Question Number : 28 Question Id : 71087010989 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

YHedl Udd g g Fife U8 YHdH & 39 9H T @ H-T1 gl g ?

1. THATRATE
2. W@Eyr fufg
3. A Erg
4, GogfiR

In a proposition which is particular affirmative,

1. Subject term is distributed but the predicate is not distributed
2. Neither the subject nor the predicate is distributed

3. Both subject and predicate are distributed

4. Subject is undistributed but predicate is distributed

www.FirstRanker.com
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71087043794. 2
71087043795. 3
71087043796. 4

Question Number : 29 Question Id : 71087010990 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fodlt adbaray forgs fagiy fAduesareidi €, 98 & -

1. 354 UG fadRd g1 8 R fagd faaRa Tet giar 81
2. 3e%g AR (e d ois ft fgaRa A8 erar 81

3. 354 IR favg gl faafa sid &1

4. 322y faafid 181 8id1 8 W f9ey faafia giar 1
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Match List | with List 11

List | List Il
Concepts Schools

A. Abhava . Jainism

B. Anupalabdhi Il. Buddhism
C. Apoha lIl. Vedanta
D. Syadavada IV. Nyaya

Choose the correct answer from the options given below:

TA-ILBE-U,C-1L,D-IV
2A-ILEBE-IV,C-1I,D -1
SA-IVB-NIILC-1,D -1
4A-1LB-ILC-1V,D-1

www.FirstRanker.com
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gii-1 1 Taii-1l & 9y GHferd Siferg -

-1 111
YR quc
A, YT REG
5. HqgaTed . 9lg
C. g 11l dgid
D. Wedlg V. =g
- fau 70 f9@eal § § 981 Ik 9T

TA-ILBE-U,C-1L,D-IV
2A-ILEBE-IV,C-1I,D -1
SA-IVB-NIILC-1,D -1
4A-1LB-ILC-1V,D-1

www.FirstRanker.com
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Study the data table and answer the questions that follow

The following table shows the maximum marks of each subject inside the bracket and
percentage of marks obtained by seven students in six different subjects in the exam

Computer
Student/Subject science |Chemistry Physics/Geography HistoryMath
(150) (130) | (120) (100) (50) | (40)
Piyush 30 50 S0 60 70 80
Gaurav 100 80 80 40 80 70
Mayank 90 60 70 70 90 70
Vimal 30 65 80 80 60 60
Vikas 80 65 85 95 50 90
Varun 70 75 65 85 40 60
Ashish 65 35 50 77 80 80

What are the average percentage of marks (%) obtained by all the seven students in Physics?

1. ~82.42
2 ~74.28
3. ~86.24
4, ~43. 74

www.FirstRanker.com
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Options :

71087043801. 1
71087043802. 2
71087043803. 3
71087043804. 4

Question Number : 32 Question Id : 71087010994 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The number of students who obtained 60% and above marks in all subject is:

1. 4
2.5
3.2
4.1

What are the aggregate of marks obtained by Mayank in all the six subjects?

1.432
2. 456
3. 460
4,440

www.FirstRanker.com
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71087043810. 2
71087043811. 3
71087043812. 4

Question Number : 34 Question Id : 71087010996 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In which subject is the overall percentage the best?

1. Computer Science
2. Chemistry

3. Math

4. Physics

What is the overall percentage of Ashish?

1. 54%
2. 68%
3. 59.66%
4. 63%

www.FirstRanker.com
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Question Id : 71087010992 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Gr
Questions : No

Question Numbers : (31 to 35)
Question Label : Comprehension

FrafafEa afoe 1de v & o0 @ 91 F5e § R wen ¥ o fus fug & v

BEI gRT U 5T T 3ieT &1 ufewra il 2 :
DU fagF | TR | Hiidd! | Yie | Sider| o
EIENAGLEE]
(150) (130) (120) | (100) | (50) | (40)
Uigy a0 50 9 | 60 | 70 | 80
UIEG| 100 80 80 | 40 | 80 | 70
AO® 90 60 70 70 90 70
fare 80 65 80 | 80 | 60 | 60
IEEZLS 80 65 85 95 | 50 | 90
GESR| 70 75 65 | 8 | 40 | 60
1Ry 65 35 50 | 77 | 80 | 80
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qufi ora faenfifal gry difae! § o feu 7Y S aa ofd () J1 6 2

1. ~82.42
2. ~74.28
3. ~86.24
4. ~95.14

quft Tawat & 609 3R 399 MfYF 3E U I a0 I & S T 1 6 ?

1.4
2.5
3.2
4.1
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e & 9 B faudl & od UIdis dig ?

1.432
2. 456
3. 460
4,440

g favg | urdid! &1 999 Ufaeidal 9araH &7

1. DR a7
2. THTIA T
3. 7TiUrd

4, Hifdst

www.FirstRanker.com
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MY &1 999 ufaed feaar e 2

1. 54 %
2. 68 %
3. 59.66 %
4.63 %

What is the full form of the abbreviation 1SP?

1. International Service Provider
2. Internet Service Provider

3. Internet Software Provider

4, Internet Service Product

www.FirstRanker.com
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Correct Marks : 2 Wrong Marks : 0

"HT3 U U Hiéd Ug S R EU 1§ ?

1. e3-TAT Y Ulags
2. 3e¥-c Hiay Uiagsy
3. 3e¥C HitedR Uiag sy

4, 3e¥C Hidy Uisae

What is the name for a web page address?

1. Directory
2. Folder

3. Domain
4, URL

www.FirstRanker.com
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d9 U UsU o U A 1 8 2

Given below are two statements, one is labelled as Assertion A and the other is labelled as

Reason R
Assertion A: Privacy and security of user data is at stake on the Internet

Reason R: No steps are being taken by the user for the security and privacy of data

In light of the above statements, choose the most appropriate answer from the options

given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

www.FirstRanker.com
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Question Number : 38 Question Id : 71087011000 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
i gl By RU T B : Ua @l sfidyE (A) SR GIR &1 dd (R) Fel T & -

HYHYT (A) : Seic W S1e] Thiadl @1 Hofdl 3R TR&1 &id W el ol

dd (R) : WISl g1 STeT &1 QR&T 3R Ford 8 &1 v a1 U o 32 B
IWdd YA & 3HTeiie J Fgifed fadedl § I affds 3ugdd S 9H -

1. (A) 31X (R) G &1 & 3fX (R), (A) BT el ARAT g
2. (A) 3R (R) GIFI G&l & 311X (R), (A) DI Tel UReAT ol 8
3. (A) HRl 8§ IR R}ﬂﬁ%"r%l

4. (A) Hel T8l & g (R) W& B

Which of the following is NOT a system software?

1. Compiler

2. Operating System

3. Application Software
4. Editor

www.FirstRanker.com
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71087043834. 2
71087043835. 3
71087043836. 4

Question Number : 39 Question Id : 71087011001 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
FEtEd 4 oF-O e Odedt Tel 6 2
1. W

2. HTRET e d

3. TEih ¥ GIiediy

4. TSR

Which of the following is excluded from the domain of Artificial Intelligence?

1. Computer Vision
2. Machine Learning
3. Deep Learning

4. Text

www.FirstRanker.com
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71087043840. 4

Question Number : 40 Question Id : 71087011002 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
fgfafad o O oH-a1 oim 1S (@nféfbRme Sfefeeia) & ST g aets 2

1. YA fau
2. i @t
3. Sl af

4, CaE

www.FirstRanker.com
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Which of the following are Millennium Development Goals?
A. Eradicating extreme poverty and hunger

B. Improving maternal health

C. Addressing climate change

D. Promoting gender equity and empowerment of women

E. Ensuring energy security for all

Choose the correct answer from the options given below:

1. A, B, Cand D only
2.A,C DandEonly
3.A,B,CDandE
4. A B and D only

www.FirstRanker.com
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Ugdle! fam de Fafiifea A 9 aH U g 2

A, cfad FEAar SR 4@ &1 3Had &

B. OTq el ¥ YR -l

C. Seiarg ufad et ImeE &

D. TiffTe THMAT 3R Afed Tfaddmor &I geral a1
E. gt & foru il GRan gifsd o

=i f&U 7Y fachedl & § W5l STk &1 98- Hifel -

1. BadA, B, C3IR D
2. ®BAAA C DIHRE
3.A B, C D3RE
4. HAAA B3HRD
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Identify the correct sequence of energy sources in terms of their heat of combustion in
increasing order

A. Methane

B. Natural fats and oils

C. Dry wood

D. Green wood

Choose the correct answer from the options given below

1.A CBD
2D, CB A
3.D,B CA
4D, C A B

www.FirstRanker.com
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FafaRad Soil gidl 1 gg- 31 & g+ H 39 el ARI6! $HH B UgdH Bl ;
A, HrE

B. UTpfdd adT 3R dd

C. b DI

D. §Rd P18

Fofafad faseal 7 O 98l W gMu

1.A CBD
2D, CB A
3.D,B CA
4D, C A B
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Given below are two statements, one is labelled as Assertion A and the other is labelled as

Reason R
Assertion A: Polluted rivers with very high values of Biological Oxygen Demand (BOD) may

produce a foul smell
Reason R: Anaerobic bacteria produce sulphur dioxide and oxides of nitrogen

In light of the above statements, choose the most appropriate answer from the options

given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

www.FirstRanker.com
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TR el Py RU U B : U &l 3Dy (A) 3R g8 &I deb (R) Hel M1 & :

3B (A) : Sfa® Siadior A7 @ 3 2Y) B SB! 3= T ardl Ugud Tieal J g 31dl &1
dd (R) : TRIfdH 9aIRAT Yo SaEe 3R AZeleH & HFRSe Ual did 6|

Iuad HYHl & 3Maid | HHifed [decdl § I Faiids Iuged 3w 9 :

(A) ¥R (R) GHT el & 3R (R), (A) P1 Wl BT

(A) 3R (R) GHT TRT & 1R (R), (A) PI Hel oG Tl &

(A) §El & I (R) el el ¢

(A) Tel el § I (R) Wel &

1.
2.
3.
4,
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High hazard wastes may contain

A. Pathogens

B. Radioactive wastes

C. Non-reactive substances

D. Corrosive substances

Choose the correct answer from the options given below

1. A, B and D only
2.A B CandD
3.B and D only
4. A Band Conly

www.FirstRanker.com
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eI GRS SUfIPT AT &1 TPd & -

A. QTS

B. S aHiufdea Uy

C. sfafsh gD ugrd

D. &R Ugrd

i< f&u T fasedl 7 @ Wel I &1 98- BT -
1. ®ad A, B 3R D

2 A B C3RD
3. Had B AR D
4. BAAA BIARC

In case of which of the following primary pollutants, the man-made contributions to global
emissions (million tonnes per year) is more compared to that from natural sources?

1. Sulphur dioxide
2. Nitric oxide

3. Methane

4. Carbon dioxide

www.FirstRanker.com
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71087043857. 1
71087043858. 2
71087043859. 3
71087043860. 4

Question Number : 45 Question Id : 71087011007 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Fafafad o O feg mufle ugus & e o 3f¥e IoqeH Wid 9y e eq) & ded d
Widhiad Fidl &1 qa-1 4 U4 & g1 &1 IRGH AU & 2

1. YB3 SAHES
2. ARCH ATHES

3. Higq
4, Ba- SHTES

In which of the Universities named below, correspondence courses were initiated in 19627

1. University of Madras
2. University of Bombay
3. University of Calcutta
4. University of Delhi

www.FirstRanker.com
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71087043862. 2
71087043863. 3
71087043864. 4

Question Number : 46 Question Id : 71087011008 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

afeiaa 5 9 fog faufaeey 3 v 1962 H UAGR UIGu®H] & 31 @i 715 o 7

1. 929 f[ayfaere
2. 93 fayfdemey
3. Dol [ayideey
4, feeil fayfaeneg
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Which of the following areas of liberal education at the higher level in feudal society of Europe
were classified under trivium?

A. Geometry

B. Astronomy

C. Grammar

D. Logic

E. Rhetoric

Choose the correct answer from the options given below:

1. A, B and C only
2.B,Cand D only
3.C, D and E only
4. A DandE only
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A, ST
RCHIRACRIE]
C. B

D. Th

E. ATHRIRE
4= fgu e fasedl © O 981 IR &1 90 SIfag

1. HAAA, B 3R C
2. @A B, C3RD
3. ®adC, D 3ARE
A HadA D3IRE
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Which of the following categories of colleges is primarily intended for creating work ready

manpower on a large scale?

1. Autonomous college
2. Community college
3. Agriculture college
4. Technical college

Frofafad 9 ¥ fog 9oft & meifaera o e 3% Jus 0 W &Y 8q dUR SHfd
H O ST el 8

1. WA AgliagTay
2. GG Aglidenad
3. PIY Heldeay

4, Th-IP! AgIiaeag
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Synchronous communication takes place through which of the following technologies?
A. Video chat

B. Virtual classrooms

C. Audio conferencing

D.Wikis

E. Electronic mail

Choose the correct answer from the options given below:

1. A, B and C only
2.B,Cand D only
3.C, D and E only
4. A DandE only

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

frg & @ forg Tt & o1 € Sn@as Gueu uRd g 2
A. ditggl e

B. STHTHT BHET

C. 3HIT&Tr BT

D. fafg

E. 3aldel-® Ha

fFrafaiad fawedl & 9 wgl S 9+ :

1. HAAA, B 3R C
2. @A B, C3RD
3. ®adC, D 3ARE
4. HAAD, E AR A
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Match List | with List 11

List |

List 11

Levels of academic freedom in higher
education institutions

Concerns at their levels

A. Personal level

. Democratic functioning in the higher education
system and believing each individual worthy of
attention

B. Professional level

ll. Standard of behaviour and ethics we adopt
and develop for ourselves

C. Institutional level

I1l. Values which influence and cushion the
operation of higher education

D. Societal level

V. Exercising personal and professional values
within the concept of the higher education
institution

Choose the correct answer from the options

T.A-IV,E-NILC-1,D-I
2A-1ILB-1,C-IV,D-1l
SA-ILEBE-IV,C-1,D-|
4A-1L,B-ILC-NI,D-IV

given below:
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Tdi-1 7 3= g0 Geuredl § sfarefe TWaadl & W) i aul  i-1Il § 39d Yat of g2 gl
Tl-1 Bl Gl-11 & Gy Gaferd Hifere :

-1 TI-11

A, Sifgam |1 3o 21e Uuiell § didbdibe dHeR 3R Udd 9&H
R Sfad @1 &Fdl | 3519 &

B.

1. BN §RT 310 fe1U 31940 9 ard iR f[aeid [ o=

AGdIdd ey
dId TdeR 3R Afdddl &1 W

Y

’S‘cﬁ 1. 3= T1e & UR=eH &I HIfdd 3R g saHad Jed

D. FHETToI®|Iv. 3 fR1&T Hw13il @i S@URum § safaaid SiR saadaias®
IS el Bl AdgR H aHl|
Fufeiad fameal ¥ ¥ 98l 3w 9 :

TL.A-IV,B-II,C-1,D-1l

2.A-ILB-1,C-IV,D- Il

SA-ILB-IV,C-II,D-1
4 A-L,B-ILC-1,D-1IV
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Question Number : 51 Question Id : 71087011013 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In Vedic tradition, the controlling power of the cosmos is:

1. Isvara

2. Brahman
3. Rta

4, Brahma
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dfee UHRT H SEUS &1 Hddl Wi & -

1.3
2. gl
3. B4

4. g¢ll

Which one among the following is NOT a mark of a sat hetu in Nyaya epistemology?

1. Paksasattva

2. Sapaksa sattva

3. Vipaksa sattva

4. Abadhita visayatva
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FrafafeT o 9 oF o 37 HHa S 99 e BT a4U TRl § 2

1. U&Ed
2. qUedd
3. fauerga
4, a1 fduga

In Nyaya epistemology, we perceive by samanyalaksana sannikarsa :

1. A particular instance of fire
2. Some instances of fire

3. Fireness
4. All the instances of fire
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g H-HHE H §H GHRAE SEdy & gRI UK $d 6 -

1. 3 B [G2W g1 31

2. 30 B P g &I
3. 3 &I

4. 3 3t it geratt @

Select the code correctly matched in terms of magnitude (Parimana) of dravyas in Vaisesika

metaphysics :

1. Akasa , kdala , atma
2. Akasa, kala, manas
3. Kala, parmanu, dik
4. Manas, atma, dik
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RIfte Ta-Hiatar & gat & ufam & dei & 981 @e & 997 Bifog -

1. HIPIE], DIad, HIHI
2. HAIDLII], DI, HAH

3. DI, TH], fodp
4. 949, 31, e

In Vledic tradition, yajfia is performed for the benefit of :

1. Devata
2. Rsis

3. Rtvika

4. Yajmana
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fce W | fpge aH & fou gy fear war g 2

Which one in Jaina metaphysics is NOT an gjiva dravya?

1. Akasa

2. Sthavara
3. Pudgala
4, Dharma
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S ded-HiAE | FRfaied J§ 9S4 3eild g0 981 § 2

1. PR
2. ¥lad

3. qgid
4, 4H

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: God does not suffer
Reason R: God lacks body
In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true
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Question Number : 57 Question Id : 71087011019 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

- &l By 60 T 81 U @I SHYSYA (A) IR GO &l 9o (R) Bel M1 6 :
HHPU (A) : SR GRfea ¢

@ (R) : 34 TR Ued B

Iudad Byl & e | Hafiad H € 98l [ded g

1. (A) 3R (R) GF T8I & 3R (R), (A) B! Yol AR B
2. (A) 3R (R) GHFI G&l & 3R (R), (A) DI Ue! ARSAT ol 8
3. (A) 981 8 3R (R) TTEd B
4. (A) 7T B 3R (R) HET B
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Who holds that, a shade of blue colour and the knowledge of it is one and the same thing?

1. Vasubandhu
2. Nagarjuna

3. Kumarila

4. Prasastapada

TE fpue ORGP A W S U IR ST A T ol 6 :

1. gy

2. AT
3. PHMNT
4. JIRdlg
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Dialogue regarding 'Sreyas and Preyas’ was held between

1. Prajapati and Indra

2. Virochan and Prajapati
3. Yama and Nachiketa

4. Yajfiavalkya and Maitreyi

Y 3R UTY & ey H by &g darg g U1 ?

1. TG SR 35
2. Tara 3fR uwiafa
3. T 31X Afdal
4. UIgead AR Tt

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

Which one of the following is false regarding "Aparva’?

1. Apdrva can sustain the world

2. Aparva is the link between the act and its fruit
3. Apirva is the causal potency in the act

4. Aparva is produced in the soul of the agent

UG & oy H HEiEd H Y oH a7

1. 3Jd SRTd o TeiH B Gl g

2. 3Yd BH R HHGA & did Bl Dol ol
3. 3yd &4 H Ffgd srdaiad g

4. 3qd Sl &I A H I glal g

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

Fire is cold because it is a substance. Which type of fallacy is committed by the above

inference?

1. Savyabhicdra
2. Visuddha

3. Asiddha

4. Badhita

I G318 Wife dg s B
IUdad A & fhg UoR @1aW &7

1. §eAHAR
2. faeg
3. g
4, |Ifed
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Question Number : 62 Question Id : 71087011024 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Who among the following upheld the view that a smaller present-good is not to be preferred

to a greater future good?

1. Sidgwick
2. Hobbes

3. Spencer

4. Kant

Tg Fyfeiad 4 ¥ foae oy § fo uidw & 92 gH &1 g1 | a9 Sic Y &I a3adl a1
&1 ST 91gy ?

1. fafsa®

2. Bisg
3. T
4 ®IE
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Question Number : 63 Question Id : 71087011025 Question Type : MCQ Option Shuffling : No Display Qu

www.FirstRanker.com

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The view that the law is made for the sake of man not for the sake of law, is upheld by:

1. Kant

2. Mackenzie
3. Jacobi

4, Spencer

gg foudI Hd & & SH dfdd & fau a1 g = fb drH & fog 2
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Question Number : 64 Question Id : 71087011026 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Who among the following holds the view that Science is literal thought, but Philosophy is
symbolic thinking?

1. J. Krishnamurti

2. M. N. Roy

3. K. C. Bhattacharya
4, Maulana Azad

g gl [daR & o fag 2ifte® f9aR 8, kg a¥iH UdidIds fHd & ?
1. S, PO

2. UH U434

3. bl Year
4. HIdHT SATG
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Question Number : 65 Question Id : 71087011027 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following codes states the virtues which are NOT consistent with Brahmana
Varna?

1. Tranquillity, Austerities
2. Purity, Forgiveness

3. Sense control, Wisdom
4. Heroism, Sovereignity

FTEI0T 90 & Tay J FEfRad § € @H-9 70 3R A § 2
1. TENf=, §oH
2. AT, &H1

3. 35y g, fGaa
4. d@ AR Y
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Question Number : 66 Question Id : 71087011028 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which one of the following assertions is false?

1. A false proposition implies any proposition whatsoever

2. A true proposition is implied by any proposition whatsoever
3. A propositional function is either true or false

4. Singular proposition does not require instantiation

Fafafad 4 -9 &Y= 384 g ?

1. I dhagd &1 AU By Hi dhaad gl

2. 9 dharad &l YUY &I ot ddbaad & |

3. dhaTadTd e 9 314dl 38d 3l 9&dl o

4. UHd ddhardd J SPIdIEvl ®i Saaddl Jel aidl 6l
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Question Number : 67 Question Id : 71087011029 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which one of the following assertions is false?

1. "~ (negation) is a binary truth-functional operator
2. 'Inductive leap’ makes the conclusion of an inductive argument probable
3. Boolean interpretation accepts only the contradictory square of opposition of propositions

4. Truth-table is a decision procedure.

Faffad o - GTHYE J8d g ?

1, '~ * (e Us f§o) 9ar baq dfedr &

2. "HHA-If (3fded oitu) fddl SIFHATES ddb & st &l §Hd a4l g
3. gcit AReA] Shdd dabdladi o el faRiy oFf & WidR Sl o

4. §dT §RUT U 0y Ul g1
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Which one of the following is the correct symbolic representation of the sentence below:
We shall swim even if it rains

[ where W = We shall swim and R = it rains]

1.R>S
2.5 5(RV~R)
3. (Rv=R) 2 S
4. (R-~R) > S
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feu T4 gty &1 FEfafiad § 9 o 981 TdidTdd [dded o ?
of aui ot gifl, fiee 1 g1 o
[W =BH I8 ; R = T91 gl |

1.R>S

2.5 3(RV~R)
3. (Rv~R) 2 S
4. (R~R) > S
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Which one of the following issues do not directly pertain to the domain of Medical ethics?
A. Consent to treatment and duty to treat

B. Truth-telling

C. Paternalism

D. Confidentiality

E. Advertising of medical drugs and other medical products

Choose the correct answer from the options given below:

1. A, B, D and E only
2. A, CandE only
3.A,B,CDandE
4. A B, Cand D only
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fFafeRad o @ @ w1 Ffedr Afdea 3 I d6id 9878 2
AJUER @ A gl 3R SUER &1 dacd

RUECIRE)

C. foggid

SRIIBEILG

c. Fafdoea gareit 3R o= fafdrcan Iael o1 fagm=

1. BadA, B, D, E
2. ®aA A, C 3R E
3. ®AAA, B, C, D3R E
4. HAAA, B, C, D

Which one of the following statements is true according to Hume?

1. A statement is true if it is verifiable.

2. Only knowledge concerning the matters of fact is impossible.
3. Metaphysical statements are meaningless.

4. Casual relation is based on constant conjunction.
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Question Number : 70 Question Id : 71087011032 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

0 & HIUR FERed § 4 S dY Td © 7

1. DY Ud ¢ Tl 98 Tag-Hg B

2. T I SR B

3. dadigidg sy g g

4, RO YaY Tdd YGRT U= 3141id |

Who holds the view that "All knowledge is, knowledge through concepts'?

1. Anaximander
2. Anaximenes
3. Protagoras
4. Socrates
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Question Number : 71 Question Id : 71087011033 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
“FH TH YD B U8 fegml TaR 8 2

1. THfeaH=
2. TG HATS
3. UlerIRg

4. JPId

‘Matter is something, | know not what'.
This view is attributed to which one of the following?

1. Berkeley and Descartes
2. Spinoza and David Hume
3. Locke only

4. Descartes and Locke
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Question Number : 72 Question Id : 71087011034 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

"%l $Y o, dicbd HI 8, § eI od1 "
HeNffEd & U ug Fua R & 2

1. Sobcl AR SHICH

2. g1t 3R Sfae ggH
3. ad did

4, SH1E AR Al

What is Aristotle’s correct description of God?

1. Pure matter and pure potentiality.
2. Pure matter and pure actuality.
3. Pure form and pure actuality.

A Digem fmpmn sl g pem st = 1
e e s S
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Question Number : 73 Question Id : 71087011035 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

SR & TaY T 3RE] & Yol [dRuI 1§ ?

1. Y[G 50 3R g YA

2. s god 3R g drdided
3. Y[G MHR R G aafddbal
4. Y[G AR AR Yg YTl

Which one of the following is acceptable to David Hume?

1. Causality is a category of human understanding.

2. Causality is a form of uniformity of nature.

3. Causality is a necessary relation between cause and effect.
4. Causality is merely a habit of mind.
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Question Number : 74 Question Id : 71087011036 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

eifad & ¥ Sas sgn ol s e § 2

1. DRI 9Hd1G §fG $1 U I B

2. HRUM U [dd UhEUd] &l Uh UBR 5|

3. HRUMA HRA 3R B & &g U AHar dd4 3|
4. HRUE 941G 54 &1 36d g

Which one of the followings is compatible with Spinoza's philosophy?

1. Agnosticism
2. Atheism

3. Pantheism
4, Theism
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Question Number : 75 Question Id : 71087011037 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fofafaad d e R e & 9md g 2

1. 3G
2. 3HIYRAG
3. HaaRAG
4. 39A1G

Those philosophers who subscribe to the view that the silver that appears in a shell is neither

real nor unreal?

1. Visistadvaitins
2. Sunyavadins
3. Sarhkhyas

4. Advaitins
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Question Number : 76 Question Id : 71087011038 Question Type : MCQ Option Shuffling : No Display Qu
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Correct Marks : 2 Wrong Marks : 0

fofaiad o O g gRiF® &1 98 Od & & de Iial o Il H 11 gidl 8, 7 d add® &
3R A aRAa® ?

1. faRRpredare
2. g

3. geg

4. 3fgal

Who are the philosophers who hold that cloth is something new, created out of threads?

1. Advaitins

2. Mimamsakas
3. Naiyayikas
4. Samkhyans
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Question Number : 77 Question Id : 71087011039 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
98 BH-U TR § ol 98 AFd © 1 ag o HiHd U2 $@ 1§ ?

1. 3fadl
2. HHig®
3. JaTi®
4. Hi=

The philosophical phrase: 'Identity of indiscernibles’ is associated with

1. Locke

2. Leibnitz

3. Descartes

4. David Hume
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Question Number : 78 Question Id : 71087011040 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
TRI® Ug 3fHT &1 diared Faiied 7 4 foad He6ia & 2

1. @id
PRCIHE

3. 8P

4. 3fasggH

According to which system, the right way to Kaivalya is Purusa-prakrti viveka jAigna?

1. Parva-Mimamsa
2. Nydya

3. Samkhya

4. Vaisesika
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Question Number : 79 Question Id : 71087011041 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
ftd SR dhdcd &I 3Fad AF TS9-UHfd &1 fadd I 2 2

1. qd Hiafar
2. 9

3. O
4. qN®

In Jaina epistemology, the knowledge of past, subtle and distant object is called:

1. Mati
2. Kevala
3. Sruta
4. Avadhi
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Which one of the following is incompatible with the views of Sartre?

1. Morality is objective.
2. The meaning of life depends on the life we build up.
3. Reflective consciousness can be treated as moral consciousness.

4. Man is responsible for his actions.
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Question Number : 81 Question Id : 71087011043 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Which one of the following is incorrect with reference to Wittgenstein?

1. Private language is not possible.
2. Don't ask for the meaning, but better to ask for the use of language.
3. Just like there are different language games; there are different forms of life.

4. Religion is a faith based on the existence of God.
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Which one of the following is incompatible with the views of Quine?

1. Ontology is relative.
2. There is no role of dogmas in philosophy.
3. Traditional epistemology is the foundation of naturalized epistemology.

4. Translation is always indeterminate.
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Question Number : 83 Question Id : 71087011045 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Which one of the following involves Category mistake according to G.Ryle?

1. The cat is on the chair.
2. The child of a barren woman.
3. The University of Delhi contains various departments.

4. Saturday is on the bed.
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Question Number : 84 Question Id : 71087011046 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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3. faee fayfaemen § sHd faur 81
4. TR & WX B

Identify which one of the following goes against Frege?

1. The term 'sense’ means 'mode of presentation’.

2. Thought is neither physical, nor mental; it is something else.
3. Frege's semantics is based on concept-notation.

4. Thought is at par with Idea.
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

1 & Uiddd ol ffEd Hifere
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2. TR 7 1 IR B, 7 aAfte: g o AR B
3. W71 @1 3 fagm faagR dda wR snaia g1

4. foOR 9UTg & 9AHE B

The Bhatta Mimamsakas advocate which one of the following theories?

1. Anvitabhidhana vada
2. Abhihitanvaya vada
3. Apohavada

4. Sphotavada
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Yz Hinres Feiaied 3 ¥ oy gl o1 gada @d § 2
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3. 3UEdIG
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Which one of the following statements refers to the coherence theory of truth?

1. A proposition is true if it conforms to fact.

2. A proposition is true if it results in success.

3. A proposition is true if it does not contradict the accepted proposition.
4. A proposition is true or false by virtue of its own structure.
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Correct Marks : 2 Wrong Marks : 0

fFafafad 5 9 o9 99 & Ydaddl & Hgid 9 9dfdd g 2
1. 9160 9 & i U8 9w &f fFfda sxar g1

2. 9 91ad 9d & forg®! uiorfd 9wadl 3 gidi &

3. 98 91 9 & Sl Widd dIad ol faist =1 gl |
4. B3 aad AU 9391 & BRI T Yal A9 8idl o

Who holds the view that 'Man without society is either a beast or a god'?

1. Russell

2. Marx

3. John Locke
4. Aristotle
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Which one of the following is acceptable to David Hume?

1. Sensationalism

2. Parallelism of Mind and Matter
3. Materialism

4. Spiritualism
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Which one of the following doctrines is incompatible with Spinoza?

1. Parallelism of attributes
2. Pre-established harmony
3. Determinism

4. Natura - Naturans
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According to Nyaya epistemology, we perceive by tactual sense-organ all the objects which we
perceive by the visual sense-organ, except;

A. Sparsatva

B. Rapatva

C. Rupa

D. Sparsa

Choose the correct answer from the options given below:

1. A only
2. B and A only
3. C only
4. B and C only
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1. Had A
2. Had B AR A
3. ®ad C
4. HAAB 3R C
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According to the Nyaya epistemology, we can perceive external substances by:
A. Visual sense-organ

B. Tactual sense-organ

C. Internal sense-organ

D. Gustatory sense-organ

Choose the correct answer from the options given below:

1. A only
2. B only
3. A and B only
4. B and C only
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1. Had A
2. ®ad B
3. ®Had A 3R B
4. HAAB 3R C
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Given below are some conditions of anumiti in accordance with the Nyaya epistemology.
Select the code which states the conditions where anumiti (inference) is NOT possible?

A. The absence of will to infer accompanied by siddhi.

B. The absence of will to infer accompanied by the absence of siddhi.
C. The presence of will to infer accompanied by siddhi.

D. The presence of will to infer accompanied by the absence of siddhi.
Choose the correct answer from the options given below:

1. A only

2. A and B only
3. A and Conly
4. B and C only
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1. Had A

2. Had A 3R B
3. HAAA 3R C
4. HAAB 3R C
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Sakti according to Nyaya is:

A. Isvarecchd

B. lcchamadtra

C. A Vrtti

D. A separate padartha

Choose the correct answer from the options given below:

1. A only

2. A and B only

3. A, Band Conly
4 A B CandD

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

U & AER A & :
A YT

B. TRBMEA

C. g

D. 3fa1 ggrd

1. Bad A
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3. BAd A, B3R C

4. A B C3ARD
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Who among the following admits both jivanmukti and videhamukti?
A. Buddha

B. Sankara

C. Ramanuja

D. Madhava

Choose the correct answer from the options given below:

1. A only

2. A and B only

3. A, Band Conly

4. A B, Cand D only

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

Fofaiaa o ¥ o Siegfad R facg gfda el ol aFdT & 2
A S5

B. 9T

C. I

D. HIYd

1. A A

2. Had AR B
3. BAAA B3R C

4 A B C3ARD
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Which of the following combinations are the trinity principles espoused by Dr. Ambedkar?
A. Liberty, Equality and Truth

B. Liberty, Fraternity and Peace

C. Liberty, Equality, and Fraternity

D. Liberty, Fraternity and Solidarity

Choose the correct answer from the options given below:

1. A only
2. D only
3. B only
4. C only
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1. Had A
2. ®ad D
3. ®ad B
4.%adC
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Which of the following propositions are compatible with Thales?
A. Air is the fundamental source of the universe.

B. Number is the fundamental source of the Universe.

C. Water is the fundamental source of the Universe.

D. Earth is a flat disc that floats on water.

Choose the correct answer from the options given below:

1. A only
2. B only
3.B and D only
4. Cand D only
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1. Had A
2. ®ad B
3. ®ad B AR D
4. %ad C AR D
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Which of the following propositions are acceptable to Berkeley?
A. Perceived entities exist

B. Unperceived entities exist

C. Self is but the substratum of a bundle of sensations

D. Matter invariably exists

Choose the correct answer from the options given below:

1. B only
2. D only
3.B and Conly
4. A and C only
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1. dd B
2. ®ad D
3. ®HAAB AR C
4. HAAA 3R C
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Which of the following propositions are NOT acceptable to Heraclitus?
A. Being consists of nothing but Being.

B. One cannot step into the river twice.

C. Being passes into Not-Being and Not-Being into Being

D. Apeiron is the fundamental stuff of the universe.

Choose the correct answer from the options given below:

1. A and B only
2. B and D only
3. A and Conly
4. A and D only
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1. Had A 3R B
2. ®aA B AR D
3. HAAA 3R C
4. HAAA IR D
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Which of the following are the stages of Subjectivity according to K. C. Bhattacharya?
A. Bodily

B. Psychic

C. Spiritual

D.Biological

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. A, Band Conly
4. B, Cand D only
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Which one of the following is correct?

A. Gandhi is the author of Sadhana.

B. Sri Aurobindo is the author of Personality.

C. Radhakrishnan is the author of Freedom and Culture.
D. Tagore is the author of Dhammapada.

Choose the correct answer from the options given below:

1. A only
2. B only
3. C only
4. D only
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Anupalabdhi is an independent Pramana that is advocated by which philosopher?
A. Prabhakara

B. Sarhkara

C. Ramanuja and Madhva

D. Kumarila

Choose the correct answer from the options given below:

1. A only
2. C only
3. A and Conly
4. B and D only
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1. Had A

2.%ad C

3. BAd A 3R C
4, Had B AR D
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‘Reason grows into revelation and the two are not opposed to each other’
Who among the following totally rejects this view?

A. F.H. Bradley

B. St Thomas Aquinas

C. St Augustine

D. Henri Bergson

Choose the correct answer from the options given below:

1. A and D only
2. A and B only
3.B and Conly
4. D only
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A real proper name is singular, placed only in the subject position of a subject-predicate
proposition and it stands for an object. Who holds this view?

AL Mill

B. Russell

C. Frege

D. Wittgenstein

Choose the correct answer from the options given below:

1. A only
2. B only
3. A and B only
4. B and C only
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According to whom since ordinary language is ambiguous, ideal, or artificial, language needs
to be formulated for showing the relationship between language and reality?

A. Russell

B. Frege

C. Austin

D. Ryle

Choose the correct answer from the options given below:

1. A only

2. A and D only
3. A and Conly
4. A and B only
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1. Had A

2. ®ad A AR D
3. HAAA 3R C
4. Had A 3R B

Which of the following statements is NOT true according to Aristotle?

1. Form and matter are relative in terms.
2. Matter is potentiality, form is actuality.
3. Formless matter exists.

A Iatteriess torm is reat.
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Which one of the following is compatible with Plato's views?

1. Ideas are not real but existent.

2. ldeas are real but existent.

3. Ideas are doubtful but existent.

4, ldeas are doubtful but non-existent.
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According to Mohammad Igbal, which of the following are true of humans?
A. Humans are instantiated from a universal super-ego.

B. Humans have evolved from a Universal intellect.

C. Humans are divinely created.

D. Humans have evolved from Spirit.

E. Humans have evolved from matter.

Choose the correct answer from the options given below:

1. A and B only
2.B,Cand D only
3.Cand E only
4. A and D only
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Which one of the following thinkers maintains that freedom lies in pure observation?

1. Jiddu Krishnamurty
2. Sri Aurbindo

3. Narayan Guru

4. Radhakrishnan

Fafiiad fdare! 2 ¥ forger 941 & & Wdad IS tem § FiRa s g 2

1. SiGg PO
2. 8f SRfE=

3. AR &
4. TYHUH
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J L Austin makes a distinction between which of the following speech acts?
A. Protocutionary

B. Locutionary

C. lllocutionary

D. Mislocutionary

E. Perlocutionary

Choose the correct answer from the options given below:

1.C, D and E only
2. B, Cand E only
3. A, Band D only
4. A, Cand D only

www.FirstRanker.com
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A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

o U9 e Fofafed H U feg aie e p A Ug i & 7
A. Sifdga &H

B. I9 BH

C. 3(ga B

D. YIH® a9 BH
E. UHTd! I &
- feu 1 famedl & 9 98 I 9
1.®ad C, D 3R E
2.%au B, C 3R E

3. Bad A, B 3R D
A HAA A, C3RD

www.FirstRanker.com
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A Firstranker's choice _ .
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The field of Applied Ethics concerning the conflict between the interest of stakeholders and

the interests of stockholder most appropriately pertains to:

1. Business Ethics

2. Bio-ethics

3. Media-sthics

4. Ethics of Technology

feaufeal & f&al ofR TIGURS & fedl & coid 4 Yafid SFUant i & &7 gaii®
I w4 ¥ fogy defia g :

1. I Hifd=rs

2. i Hifqer=

3, ditsar Hifaerd
4, Uit Hifdard

www.FirstRanker.com
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A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

Correct Marks : 2 Wrong Marks : 0

Charles Taylor makes a distinction between which of the following?
A. Politics of dignity

B. Politics of difference

C. Politics of gender

D. Politics of entitlement

E. Politics of distribution

Choose the correct answer from the options given below:

1. D and E only
2. A and B only
3.Cand E only
4. A and D only

www.FirstRanker.com
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A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

ared coR (gfeied | ¥ fb-d g siir aal & -
A, FHEE B I-1d

B. 3TR B el

C. TfTeh et

D. BHGRI B ISHIid

ECHUEARIEEI]

=i f&u 7Y faseal & 9 W5l IR g -
1.5aa D 3R E

2. Had A 3R B

3. ®ad C 3R E
4. BT A AR D

www.FirstRanker.com
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A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

The ethical claim in business ethics that deceptive advertising is wrong because deceiving

others is disrespectful to them and uses them as mere means, pertains to:

1. Kant's deontological ethics
2. Virtue ethics

3. Rule-utilitarianism

4, Act-utilitarianism

HAIGID Afdddl & I8 Aldd aral fbad Hefid g fi YHd [99e- e & &ifd gail & &7
I oY SUEFeHS & R GIYEE & ©U 3 3961 Sudi & -

1. Bic DI BaA-UE fdddl
2. 70T &I Afcddl

3. f9H - Sugifiaag

4, B - IUIRIAEG

www.FirstRanker.com
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A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

Correct Marks : 2 Wrong Marks : 0

The question regarding what might constitute criteria necessary for personhood is most

central with reference to:

1. Abortion
2. Active Euthanasia
3. Passive Euthanasia

4. Eugenics

FfaaUA (Personhood) @ AT STa%0® AN® &1 & 9&d & - 394 gaiid Uy foad dad |
Ydiftie Hgw@yul § ?

1. 71

2. 9ichd TBHY
3. P s=Hdg
4, goHf®

www.FirstRanker.com
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A Firstranker's choice _ .
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Question Number : 115 Question Id : 71087011077 Question Type : MCQ Option Shuffling : No Display Qi
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In the ethics of Technology, the notion that technology is only an instrument, the good or bad
use of which depends on its users and technology is not good or bad in itself, is known as:

1. User's dilemma

2. Dichotomy of the doer and deed
3. Neutrality thesis

4. Ethics of instrumentality

et &1 Afadmdl & TRifis! te areF A € e o<1 91 31 30anT 396 YaRTdhdiel 0
MR e g ; i@ A0H-MU H S AT R el & ; Y TUH I ol & 2

1. UGGl &1 g8

2. @l IR & & fgueH
3. deal fUSid

4. WA G ® Afdddl

www.FirstRanker.com
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A Firstranker's choice _ .
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Question Number : 116 Question Id : 71087011078 Question Type : MCQ Option Shuffling : No Display Qx
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match List | with List 11

List | List 1l
A Veda . Fire burns out of its own nature
B. Carvaka |l Fire burns because of rta

lIl. Fire burns because of its burning power

C. Mimarisak
AR dahika sakti) which is a separate padartha

D. Vaisesika |IV. Fire is a physical substance

Choose the correct answer from the options given below:

T.A-IL,BE-IV,C-1I,D-|
ZA-ILB-1LC-1I,D-IV
SA-LB-1L,C-1V,D-1I
4 A-IV,B-IILC-1,D -1

www.FirstRanker.com
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A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

gii-1 1 Taii-1l & 9y GHferd Siferg -

-1 Tl- 11

Adg |1 S IO U & BRI Sdl 6 |

B. d1did |I1. 3% Fd & SR Fadl o

C. T |11, H# - grfg ! Wi | U gyS Yard €, & SR Aadl e
D. 3R |Iv. i T@ Yo s 8|

e fau e fasedl ©f © U8l IR gHU:

T.A-IL,LBE-IV,C-1I,D-|
ZA-ILB-1LC-1I,D-1IV
SA-LB-1L,C-1V,D-1I
4 A-IV,B-IILC-1,D -1

www.FirstRanker.com
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A Firstranker's choice

www.FirstRanker.com www.FirstRanker.com
Match List | with List 11
List | List 1l
A. JAatatavadda |. Prabhakara
B. Triputipratyaksavada  |ll. Kumarila
C. Dvaitavada l1l. Madhva
D. Bhedanbhedavada I\V. Nimbarka

Choose the correct answer from the options given below:

TA-II,B-1L,C-1,D-1IV
ZA-1LB-1L,C-N,D-1IV
SA-ILB-UL,C-1,D-1IV
4 A-NILB-ILC-1,D-IV

www.FirstRanker.com
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A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

8. Agdiuaarg |1 AR
C. gadig 1. T

D. Yaveare  |Iv. FEb
e fau e fasedl ©f © U8l IR 9T

TA-II,B-1L,C-1,D-1IV
ZA-1LB-1L,C-N,D-1IV
SA-LB-U,C-1,D-IV
4 A-NILB-ILC-1,D-IV

www.FirstRanker.com
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A Firstranker's choice .
www.FirstRanker.com

Match List | with List 11

www.FirstRanker.com

List | List Il

enforceable criteria of right and wrong

A, The state of nature was one in which there were no I. Locke

and property were generally recognized under natural
law

B. The state of nature was one in which the rights of life |I.LRousseau

. In the state of nature, humans were unwarlike and
somewhat undeveloped in their reasoning, morality and
responsibility

Ill. Hobbes

that free and rational individuals would agree to in a

hypothetical situation perfect equality

D. Justice consists of the basic principles of government |IV. John Rawls

Choose the correct answer from the options given below:

TA-ILE-N,C-1,D-IV
ZA-ILBE-ILC-1,D-IV
SA-LB-U,C-I,D-IV
4 A-NILB-LC-1L,LD-1IV

www.FirstRanker.com
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A Firstranker's choice _ .
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gii-1 1 Taii-1l & 9y GHferd Siferg -

-1 TI-11
A Upid BT sfael Ut o formd gt SR T1ad @1 ®ig Yau-1d A4 ol o . AP
B. Udpid o fawy1 U] «ff forgd Silaq 3k grufd & USRI & 9rH-ad: Usid & Fug =i
% oiea e o ot o *
E.m&mwﬁﬁmqaﬁmﬂﬁ#ﬁmﬁwﬁaﬁﬁwﬁﬁm&mﬁﬁ . S
D. < WHR b 39 Ho s IR AR 2 & Wad iR difgd Aidd 986 g9Hdl |Iv. §F
&1 TR YT H ggqd gl N
e fau e fasedl ©f © U8l IR 9T

TA-ILE-N,C-1,D-1IV
ZA-ILB-ILC-1,D-1IV
SA-LB-U,C-1,D-IV
4 A-1LB-1,C-1LD-1IV

www.FirstRanker.com
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A Firstranker's choice

Match List | with List 11

www.FirstRanker.com

List | List Il

A. Bheda dhikkdra l. Madhva

B. Bheda satakra II. Sarkara

C. Acintyabhedabheda lll. Ramanuja

D. Aprthak Siddhi V. Chaitanya- Baladeva

Choose the correct answer from the options given below:

TA-LE-IL,C-1,D-1V

2ZA-II,B-1,C-IV,D-1l
SA-IV,B-UILC-1LD-1

4 A-1LB-IV,C-1I,D -1

www.FirstRanker.com
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A Firstranker's choice _ .
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gii-1 1 Taii-1l & 9y GHferd Siferg -

-1 111
A VG fiasRrR |1 |Yd
B. 4G TR 1. TH

C. 3f=g HeTHe |, THIS
D. 3qu® fafg  |iv. Ja= Seca
e feu e fasedl ©f © Oel IR gHU:

TA-LE-IL,C-1,D-1V
2ZA-II,B-1,C-IV,D-1l
SA-IV,B-UILC-1LD-1
4 A-1LB-IV,C-1I,D -1

www.FirstRanker.com
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A Firstranker's choice

www.FirstRanker.com

Match List | with List 11

List |

List Il

A. Samkara

. JAGna-Karma-Samucchayavada

B. Ramanuja

l. JnGfAa and jAdana alone

C. Madhva

Il. Pusti Marga

D. Vallabha

V. Nirmala Bhakti

Choose the correct answer from the options given below:

TA-LE-IL,C-1,D-1V
ZA-ILB-1L,C-1V,D-1lI
SA-IV,B-ILC-1,D-1I
4 A-1LB-IV,C-1,D-1l

www.FirstRanker.com
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A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

A TP |l IH-DH-THIGAIG
B. I (11, 4 3R dad M
c.HE (. qE et

D. deaiH |Iv. FHd Hidd

e fau e fasedl ©f © U8l IR 9T

TA-LE-IL,C-1,D-1V
ZA-ILB-1L,C-1V,D-1lI
SA-IV,B-ILC-1,D-1I
4 A-1LB-IV,C-1,D-1l

www.FirstRanker.com
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A Firstranker's choice

www.FirstRanker.com www.FirstRanker.com
Match List | with List I
List | List Il
A. Subjective idealism . Bosanquet
B. Realism Il. Berkeley
C. Objective Idealism Il. Kant
D. Critical philosophy IV. Locke

Choose the correct answer from the options given below:

T.A-ILB-IV,C-1,D-1
ZA-IV,B-1,C-1,D-I
SA-LB-1L,C-1V,D-1I
4 A-1ILB-ILC-1,D-1IV

www.FirstRanker.com
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A Firstranker's choice _ .
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gii-1 1 Taii-1l & 9y GHferd Siferg -

-1 T1- 11
A. fawdifs ugarg |1 dis
B. TUTaTg 1. gl

C. I8 Udgag |l die
D. AACIES G2H |IV. Tl

e fau e fasedl ©f © U8l IR 9T

T.A-ILB-IV,C-1,D-1
ZA-IV,B-1,C-1,D-I
SA-LB-1L,C-1V,D-1I
4 A-1ILB-ILC-1,D-1IV

www.FirstRanker.com
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A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

Match List | with List 11

List | List 1l
A. Leucippus and Democritus|l. The City of God

B. St. Augustine Il. Five proofs for the existence of God
C. St. Thomas Aquinas lll. Ontological Argument
D. St. Anselm V. Atomic theory

Choose the correct answer from the options given below:

TA-ILE-NI,C-1IV,D-I
ZA-IV,B-1,C-I,D-1I
SA-ILB-UL,C-1,D-1IV
4 A-L,B-ILC-1,D-1IV

www.FirstRanker.com
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A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

gii-1 1 Taii-1l & 9y GHferd Siferg -

1| Tl-11

A. TG0 SR SHIBEY || SR BT TR

B. e ITETE 1. 3%% & 3ifawa & Uid JEm
C. He 4Imy Uieg 1. Td ddb

D. ¥e T V. GRHT] g

e fau e fasedl ©f © U8l IR gHU:

TA-ILE-NI,C-1IV,D-I
ZA-IV,B-1,C-I,D-1I
SA-ILB-UL,C-1,D-1IV
4 A-L,B-ILC-1,D-1IV

www.FirstRanker.com



» FirstRanker.com

A Firstranker's choice

Match List | with List 11

www.FirstRanker.com

www.FirstRanker.com

List | List 1l
A. Tagore l. One must work like master and not like slave.
B. Igbal Il. What is spoken must be in the first instance believed

C. Vivekananda

1. The world for me is both individual and universal

D. K.C. Bhattacharya

V. Body is accumulated action or habit of the self

Choose the correct answer from the options given below:

TA-ILE-N,C-1,D-1IV
ZA-IILB-IV,C-1,D-1
SA-IV,B-LC-II,D-1
4 A-1L,B-ILC-1V,D-1l

www.FirstRanker.com
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A Firstranker's choice _ .
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gii-1 1 Taii-1l & 9y GHferd Siferg -

-1 -1

A, TR |, HITeT 1 aie ®1d &l dled &/ ®f e el

B. SHAT 1. S gl T 911 &, 39 R UuHa: Gy fear 9 91ign
c faderg 1. TR 3T I9R Jufdds SR gdum a8

D. .4 Yo |Iv. IR fad & gg W@ @1 <8 g

e fau e fasedl ©f © U8l IR gHU:

TA-ILE-N,C-1,D-1IV
ZA-IILB-IV,C-1,D-1
SA-IV,B-LC-II,D-1
4 A-1L,B-ILC-1V,D-1l

www.FirstRanker.com
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A Firstranker's choice

www.FirstRanker.com www.FirstRanker.com
Match List | with List 11
List | List Il
A p=g L(p-q)-r
B. ~ (p2q) I (p>r)-(q>r)
Cp-(q-r) .(p-q)V(~p-~q)
D.(pvqg)or V.p-~q

Choose the correct answer from the options given below:

TA-ILB-1,C-1,D-1IV
ZA-II,BE-IV,C-1,D-1l
SA-LB-N,C-IV,D-1
4 A-1LB-IV,C-1,D-1l

www.FirstRanker.com
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A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

1 -l

A p=g L(p-q)-r

B. ~(p2q) I.(p2r)-(q>r)
Cp-(q-r) .(p-q)V(~p-~q)
D.(pvqg)or V.p-~q

e feu e fasedl ©f © U8l IR 9T

TA-ILB-1,C-1,D-1IV
ZA-II,BE-IV,C-1,D-1l
SA-LB-N,C-IV,D-1
4 A-1LB-IV,C-1,D-1l

www.FirstRanker.com
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A Firstranker's choice

www.FirstRanker.com www.FirstRanker.com
Match List | with List 11
List | List Il
A Vivekananda |. Creation is the 'Lild@' of the creator

B. K.C. Bhattacharya |II. Reality is one but not a ‘whole’

C. Tagore lIl. Philosophy is the self-evident elaboration of the self-evident

D. Igbal IV. Intuitive experience is knowing by being

Choose the correct answer from the options given below:

TA-LE-1I,C-1V,D-1l
2ZA-IV,B-1L,LC-1I,D-1
SA-ILB-UL,C-1,D-1IV
4 A-1ILB-1,C-IV,D-1l

www.FirstRanker.com
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A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

Gl-1 &I Idi-1 & Ay gafad i .

- -1

A fdere | g T diar @

B. .1 HeTamd |11 Turf us 8, g gl et

C. 2R 1. 5= Tq: Y @1 Wa: [95d AR 8
D. 3hald V. 3= USTHD 3IHd dgl sldx o=l &
e fau e fasedl ©f © Oel IR gHU:

TA-LE-1I,C-1V,D-1l
2ZA-IV,B-1L,LC-1I,D-1
SA-ILB-UL,C-1,D-1IV
4 A-1ILB-1,C-IV,D-1l

www.FirstRanker.com
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A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

Arrange the following in the correct sequence for yoga Samadhi
A. Sananda

B. Sdsmita

C. Savitarka

D. Savicara

Choose the correct answer from the options given below

1.A B CD
2C D B A
3.C D AB
4B, C, DA

www.FirstRanker.com
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A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

IR I H Wel #{HH i :
Al

B, e

C. gfadsd

D. HigdR

=i f&u e faceal & 9 Wel IR g -

1.A B CD
2C D B A
3.C D AB
4B, C, DA

www.FirstRanker.com
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A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

Arrange the following in the correct sequence with reference to Buddhism
A.Nama - ripa

B. Shadayatana

C. Vijigna

D. Vedana

E. Spars

Choose the correct answer from the options given below

1.A B DCE
2CABED
3.C B DEA
4 A D CEE

www.FirstRanker.com
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A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

digy & Udid TgdIG & d9Re o4 01 (e @1, 9y & Ty U8l 9 § 994 SIfe:
A FTH - &Y

B. YSHIaH

c. fagm

D. el

E. &gl

=i U 7Y faeeal & 9 W5l SR gy -

1.A B DCE
2CABED
3.C,BDEA
4 A, D CBE

www.FirstRanker.com
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A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

Select the correct sequence with reference to yoga system.
A. Niyama

B. Pranayama

C.Yama

D. Asana

E. Pratyahara

Choose the correct answer from the options given below

1.A B DEC
2CDEAB
3.CADEE
4 C, A EBD

www.FirstRanker.com
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A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

i | & g5 | el 3 9T
A FTH

B. TR

C.7H

D. 3T

E. UdlgR

=i f&u e faceal & 9 Wel IR g -
1.A B D,EC

2.C,D,E A B

3.CADEE
4 C, A EBD

www.FirstRanker.com
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A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

Select the correct sequence according to Jainism.

A. Syadnasti

B. Syadasti nastica

C. Syadavaklavyam

D. Syadasti ca avaklayam ca

E. Syadasti

Choose the correct answer from the options given below

1.A B CDE
2 EAEBDC
3.EABCD
4ECDAEB

www.FirstRanker.com
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A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

S ¢H & SJER Tel 3gehH I :

A, IR

B. WIgied Aled @

C. WGadaTH

D. WG T 3faadeqH 9

E. WGl

i< feu U fasedl 7 € Wel I g
1.A,B,C D,E

2.E A BD,C

3.EABCD
4ECDAEB

www.FirstRanker.com
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A Firstranker's choice _ .
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Arrange the following processes in sequence as per Sri Aurobindo's Theory of Evolution
A.Heightening

B. Widening

C. Integration.

Choose the correct answer from the options given below

1.A B C
2 C B A
3.B CA
4 B A C

www.FirstRanker.com
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A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

4t aRfde! & fary & Rigid & el HH B 95 Bifelg
A. JHIH0T

B. fasarievo

C. HUT®HI0

=i f&u 7Y faseal & 9 W5l IR g -

1.A B C
2 C B A
3.B CA
4 B A C

www.FirstRanker.com
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A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

Which of the following expresses a correct sequence with reference to Buddhism?
A. Animilta-samadhi, Apranihita- samadhi, Shanyala-samadhi

B. Apranihita- samadhi, Shanyala-samadhi, Animilta-samadhi

C. Shanyala-samadhi, Animilta-samadhi, Apranihita- samadhi

D. Shanyala-samadhi, Apranihita- samdadhi, Animilta-samadhi

Choose the correct answer from the options given below:

1. A only
2. D only
3. B only
4. C only

www.FirstRanker.com
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A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

d1G aRiiF® 0799 § ©F U Yel 3 H9 & :

A. SHTTEE-GH1Y, Ufred- AT, YId-gHiy
C. YaI-GHIY, SAfEG-gafy, smfiigd-gHy
D. R[OGT-GHITY, Sfvfed-THie, ffrd-gme
=i f&u 7Y faseal & 9 W5l IR g -

1.A

2.D

3. B
4.C

www.FirstRanker.com
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A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

Arrange the following stages of acquiring Moksha as per Dvaita Vedanta in the correct
sequence

A. Sarapya, Sarapya, Samipya, Salokya

B. Salokya, Samipya, Sarapya, Sarapya

C. Sameepya Salokya, Sardpya, Sarapya

D. Salokya, Sarapya, Sardpya, Samipya,

Choose the correct answer from the options given below:

1. A only
2. B only
3. C only
4. D only

www.FirstRanker.com
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A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

&d daid H T8 & gl SshH g ?
A T, 9w, 9, S

3. FTeiied, UHHIE, Tred, T

C. i, gl Uiged, 9y

D. TIdid, Uiy, 9Red, gy

=i f&u e faceal & 9 Wel IR g -
1.A

2.B

3.C
4.D

www.FirstRanker.com
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A Firstranker's choice _ .
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In the practical teaching of the Upanisads, what is the correct sequence of the three orders of

knowing?

A. Manana, ﬁravana, nididhyasana

B. §ramna, Manana, nididhyasana

C. Manana, nididhyasana, ﬁravana

D.Sﬁmnar nididhyasana, Manana

Choose the correct answer from the options given below:

1. A only
2. B only
3. C only
4. D only
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A, F, #au, g

B. a1, A, Afgeaara

C. 74, Ficenra, sau

D. gul, (Afgsarad, 7

- feu 1 famedl & 9 9E I 9 -
1. A

2. B

3.C
4.D
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Arrange the following types of ignorances, as per Sri Aurobindo, in the correct sequence
A. Original Ignorance, Cosmic ignorance, Egoistic ignorance, Temporal ignorance

B. Original Ignorance, Egoistic ignorance, Cosmic ignorance, Temporal ignorance

C. Original Ignorance, Temporal ignorance, Cosmic ignorance, Egoistic ignorance

D. Egoistic Ignorance, Cosmic Ignorance, Original Ignorance, Temporal Ignorance
Choose the correct answer from the options given below:

1. A only
2. B only
3. C only
4. D only
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F ot A BT § S e e T8 He e
A, HIT® 39, 38® 3T, ASHETTHD ITH, Dliad A3

B. TSI 3§, SEHEES 3, AAE AFH, Hifcid 3R[H
C. Aifci® 3, difcid AFH, AE [, ASHETHS 5

D. HEHATHD AT, 3@ Iy, Hiftie AFH, Bifas HwH
e fau e fadedl O Ul SwR gAY

1. A

2B

3.C
4.D

The problem of Universals was first introduced into Philosophy by

1. Acquinas
2. Aristotle
3. Plato

4. Berkeley
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3. el
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Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

In the light of Bhagvadgita,

Assertion A: True renunciation is the renunciation of fruits of all actions.

Reason R: Fruits of actions stand in the way to renunciation

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true and R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true
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Given below are two statements, one is labelled as Assertion A and the other is labelled as

Reason R

Assertion A: In case of a valid deductive argument, the conclusion is logically deduced from

the given premise(s)
Reason R: The conclusion is not formally contained in the premise(s)
In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true and R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

www.FirstRanker.com



:l », FirstRanker.com

Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

TR el Py RU U B : U &l 3Dy (A) 3R g8 &I deb (R) Hel M1 & :
fﬁﬁwm}:wﬁﬂmaﬁ?ﬁﬁwﬁﬁﬁﬁﬁnwaﬂwﬁmﬁmanuﬁﬁmmrn
Bl

d® (R) : MURaE H 5wy Sfiu=iie ¥u ¥ 781 gl s
mﬁaamﬁf%aﬁmﬁﬁﬁ%ﬁmﬁﬁmﬁ‘%mmaﬁ:

(R) G WE1 € 3R (R), (A) BT Y& ARSAT &

(R) GHT TET & 31 (R), (A) BT HT o Tl €

Hﬁ%mﬁ RIGCE]
Ted B, U (R) Hel B

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: According to Advaita Vedanta, Brahman is indeterminate
Reason R: The intellect cannot possibly grasp it, but only point to it

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct
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Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: In Ramanuja, monism and theism are succinctly harmonized
Reason R: Harmonisation is not at the cost of philosophical argumentation

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct
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Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: The concept of Nirguna Brahman seems to be neutral to the demands of
religious feeling
Reason R: Religious feelings and logical thinking cannot go together

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct
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1. (A) 3R (R) GHFI Tl & 31K (R), (A) B Jel ARAT & |
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4. (A) TTEd B, U3 (R) Tg! B
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Read the given passage carefully and answer the questions that follow

.. although different people may see the table slightly differently, still they all see more or less
similar things when they look at the table, and the variations in what they see follow the laws
of perspective and reflection of light, so that it is easy to arrive at a permanent object
underlying all the different people’'s sense-data.... Thus it is the fact that different people have
similar sense-data, which makes us suppose that over and above the sense-data there is a
permanent public object which underlies or causes the sense-data of various people at various
times.

Now in so far as the above considerations depend upon supposing that there are other people
besides ourselves, they beg the very question at issue. Other people are represented to me by
certain sense-data, such as the sight of them or the sound of their voices, and if | had no
reason to believe that there were physical objects independent of my sense-data, | should
have no reason to believe that other people exist except as part of my dream. Thus, we are
trying to show that there must be objects independent of our own sense-data, we cannot
appeal to the testimony of other people, since this testimony itself consists of sense-data.
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The second paragraph of the above passage draws upon:

1. Idealism
2. Realism
3. Solipsism
4, Relativism

First paragraph of the above passage makes a case for which of the following?

1. Idealism
2. Realism
3. Solipsism
4, Relativism
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Which of the following is/are included in the reasons offered to prove the existence of the
external world in the given passage?

A. Testimony of other people.
B. The similarity in sense data in similar conditions.

C. The variations in our sense data can be explained through the laws of perspective and
reflection of light.

D. The fallibility of sense experience.
Choose the correct answer from the options given below:

1. A and B only

2. A, Band Conly
3. A, Band D only
4. D only
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According to the above passage:

| should have no reason to believe that other people exist, except as part of my dream
because:

A. | have no way to ascertain that the other person could be lying.
B. Existence of other people could also be reduced to sense-data.

C. Things that | see in a dream do not exist in the real world.

D. | can only be sure of my own experience.

Choose the most appropriate answer from the option given below:

1. A only
2. B only
3.B and Conly
4. A and B only
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The philosophical position which is contrary to the position that ‘there are other people in the

world apart from ourselves’ is termed as:

1. Solipsism
2. Subjective Idealism
3. Transcendental ldealism

4. Scepticism
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Read the given passage carefully and answer the questions that follow

If you think that such and such objects of true cognition are established through the
instruments of true cognition (pramanas). We ask: how are those 'instruments of
cognition’ established? If you think that the ‘objects of true cognition’ (prameya) are
established through the ‘means of true cognition and those 'means of true cognition’ are
established through other 'means of true cognition” then there is...

Now if you think that those pramdnas are established without pramanas, then your
philosophical position is abandoned.

The view that pramanas establish themselves as well as other things, is called
Svatahpramanyavada that was advocated by Prabhakara and Sankara.

Now if you think that through the establishment of pramanas are established the prameyas,
and that through the establishment of prameyas are established the pramanas,_then there will
be anyonydsraya dosa.
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Which of the following schools of Indian Philosophy believe that ‘the pramdanas establish
themselves'?

A. Nyaya

B. Buddhism

C. Prabhakara

D. Samkara's Advaita

Choose the correct answer from the option given below:

1. A and B only
2.B,Cand D only
3.Cand D only
4. B and C only
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Which fallacy would occur if one believes that through the establishment of pramanas are the
established prameyas and that through the establishment of prameyas are established

the pramanas?

1. Anavastha dosa (infinite regress)

2. Cakraka dosa (fallacy of circularity)
3. Anyanyasrya (Interdependence)

4, Gaurana dosa (Redundant)

The kind of reasoning used in the given passage is:

1. Dilemma
2. Paradox
3. Puzzle

4. Strawman
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If one believes that instruments of true cognition are themselves established without any
instruments of true cognition, then which philosophical position is abandoned?

1. Objects of true cognition (prameyas) are established through the instruments of true
cognition (pramanas)

2. Pramanas are self-established

3. Prameyas are self-established

4. Both pramdnas and prameyas are self-established

The statement that ‘pramanas established themselves as well as other things' represents the
doctrine of:

1. Paratah pramanyavada
2. Swatah pramanyavada
3. Swatah apramanyavada
4. Paratah apramanyavada
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